SWING FRAMES

MOUNTING INSTRUCTIONS

7697-0318-01 REV. 3

nvent
HOFFMAN



SWING FRAMES

ESFC

3/4

ESFS - ESFH180

MP/SFSU

SF

9/11

ESFD




SWING FRAMES

Qty.

20

20

20

Pic.

© w8

©@ w8

O ws

rque
15 Nm

Ref.

A %mxso 10

B

C

EARTHING

ECP08

SW13

Y
10-

5E © ®

N TRV TR A

rque
15 Nm

A
o

[
RO

Xy §
A\ © l/df

\
Torque
0-15 Nm

o ©®




SWING FRAMES

%

T25

%[O e ESFB

T30 SwWi13 Sweé
Torque
11-13 Nm Q

1 - ESFS with ESFH180, ESFM hinged on left-hand side
2 - ESFC, ESFS hinged on left-hand side

3 - ESFC, ESFS hinged on right-hand side

4 - ESFS with ESFH180, ESFM hinged on right-hand side

i

Pic.

M6x12

% Mex16

% M6x20

i mexte

@ w™s

%MG

m  Me

©

1 - ESFS w/o ESFH
2 - ESFM, ESFS with ESFH
3-ESFC




SWING FRAMES

ESFB

When used with ESFM, ESFS with ESFH

When used with ESFC, ESFS w/o ESFH

When used with ESFC, ESFS w/o ESFH

When used with ESFM, ESFS with ESFH




SWING FRAMES

£
$=
go
. 1
m. © -~ - | - o~ ~ L] %m =z
= ) o~ N N © N\ m.w
%3 I = = =
s g & M@ = | = = 0 _mn_uﬁ
S < [
210888 e
_m < 2] o o w TR o

Torque
11-13 Nm

ESFC

Torque
16-20 Nm




SWING FRAMES

11-13 Nm

of
oo™
. oY
le| ~| | | M|~ oE F=
= ) ~ N ~ © N m.w @
S| g | &g g
g W W = = = = 0 _mn_u e
o ’@ o /
» | 0 ¥E 8D
gl < o a w e
s
5]
L
n
LL
o
LLl
em £ £
SZ $= 9z
g8 S oi=]
°d 54 £8
Y / /

N P\




SWING FRAMES

#| O

Swi13

Swe

f

ESFS - ESFH 180

Ref. Pic. Qty.
A| @ Méx10 | 2
B M8x25 4
c 12x12 1
D| @® M2 |2
E M8 | 4

[Swingframe hinged on right-hand side

Torque
8-10 Nm

o T

LTSRSty

|
G

Torque
11/-13 Nm

=

(SUSISUEURIeLat )\
5

©®

é Reusable item

* - Remove with straight screwdriver

DR TR

Swingframe mounting according to ESFM on page 7.




SWING FRAMES

Qty.

1

2

Pic.

M6x10| 6

M12

®

Ref.

A

B | T Mexs

c 'KQ@ M12 | 1

E

ESFM

5-20 Nm

1

orque
6-8 Nm

=

Torque
| T~11-13Nm

\




SWING FRAMES

ESFD130/180

*000ﬁ

T30 sws SW10 SWi13

Top mounting position

1. ESFD fixed on ES 2. ESFD fixed n frame
ESFD130 for ESFBO6+ESFC

ESFD180 for ESFBO8+ESFS/ESFM

Top mounting Top mounting

Ref.

Pic.

Qty.

U@ mex12

B wvexte

Cpmexte

M6

MG

Bottom mounting

*ESFB mounting holes instructions
according to page 10.

Torque
8-10 Nm




SWING FRAMES

ESFD MOUNTING HOLES
FOR ESFB

ESFD in 600W

ESFD in 800W

«ESFD130 for ESFC left/right hand opening fixed on frame

*1 - ESFD130 for ESFC/ESFS left hand opening

*1* - ESFD130 for ESFC/ESFS right hand opening

*2 - ESFD130 for ESFM/ESFS with ESFH180 left hand opening
*2* - ESFD130 for ESFM/ESFS with ESFH180 left hand opening

ESFD in 1000W

ESFD in 1200W

*1 - ESFD180 for ESFM+ESFH180 left hand opening
*1 - ESFD180 for ESFS+ESFH180 left hand opening
e 2 - ESFD130 for ESFC left hand opening
* 2 - ESFD130 for ESFS left hand opening
*2* - ESFD130 for ESFM+ESFH180 left hand opening
*2* - ESFD130 for ESFS+ESFH180 left hand opening

*1* - ESFD180 for ESFM+ESFH180 right hand opening
*1* - ESFD180 for ESFS+ESFH180 right hand opening
*2* - ESFD130 for ESFC right hand opening
*2* - ESFD130 for ESFS right hand opening
*2 - ESFD130 for ESFM+ESFH180 right hand opening
*2 - ESFD130 for ESFS+ESFH180 right hand opening

*1 - ESFD130 for ESFC right hand opening
*1* - ESFD130 for ESFC left hand opening

10




SWING FRAMES

ESFD MOUNTING HOLES

FOR ESFS

For ESFD180 or
with ESFH180
mounted

Nete}

ZX
R\

A\

For ESFD130

BN SOOI NN OGN OE OO NG TS TN O NN OO RSN ONE OO OE OGN TN TN TN OON O Nan Gaa oo noaanoaaoaaaan o aohaw,
<

NUE=-A-A-2-2-2-- - -2 - - - - - - - - - - - - - - - - - - - - - B

M ETEla e s lalaslalaislalulsiulsalsiasiulusiaiaisialulslulauilualulaslaluslslasieiasisluelaiaisiuseisiaslelasislaelalaalulaslalaslalasisla sl laslululslulsslslu s lula el iatuy

2

T OO I TN I T I T I N I T I TN I T I TN I T I N T I I U TN TN N TN T TN I N T TN I TN I TN T TN I N U I TN N TN I TN I TN B O U OGO B O I OO O S m

e ° e ° ® ° ® ° ® B ° e ° o ° ° ° ® o ® B ° e ° e ° ® o @ ° ® B °

i8] N N N N

e

o,

—& & B

11



Qty.

12
Qty.

Pic.

Pic.

Ref.

A M6x12| 4

A |G Mex12| 8
B @ M6

Ref.

SFMP

uuuuuuu

h
- e N,
\ — { Nl ¥ 7/ e s oo s s —x
N\ = =N S
\ NN = F— g —F )
N\ AT T TTAT T A O T A O]
e o

Torque
10 Nm

8

SFSU
2

Q A\ < <

A\

\\\\\\N\\\P////N%

SWING FRAMES

T30
%
T30

12



	Blank Page



